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1p 31 Er ontbreekt een aantal zinnen in alinea 4. Ze staan hieronder, maar in de 
verkeerde volgorde.  
 Schrijf de letters van de zinnen in de juiste volgorde op in de

uitwerkbijlage.

[a] But after shadowing an optometrist, he realized it wasn’t for him.

[b] He studied biology in school but planned to go into optometry, which
seemed like a respectable profession.

[c] Instead, he decided to follow his passion for bears and approached
Tom Smith, a bear expert at Brigham Young University, to take him on as
a student, but Smith said no.

2p 32 Geef van elke bewering aan of deze wel of niet wordt genoemd in 
alinea 5. 
Omcirkel achter elk nummer ‘wel’ of ‘niet’ in de uitwerkbijlage. 
1 Larson doet onderzoek naar de winterslaap van de vrouwelijke ijsbeer. 
2 IJsberen hebben veel last van milieuvervuiling. 
3 Na hun winterslaap worden de ijsberen bijgevoerd. 
4 IJsberen zijn extreem gevaarlijk als ze jongen hebben. 

1p 33 What does Larson say about his Instagram posts in paragraph 6? 
He uses them to 
A become famous as a photographer. 
B inspire teachers to go on field trips. 
C involve the public in environmental science. 
D present his results to other scientists. 

Tekst 11 

1p 34 What becomes clear about the Merlin Entertainments Group from 
paragraphs 1 and 2? 
A It has a very popular vacancy. 
B It is changing its business strategy. 
C It tries to take children’s opinions into account. 
D It was contacted by an unexpected jobseeker. 

1p 35 What becomes clear about Stanley in paragraphs 3 and 4? 
A He is a very gifted Lego builder. 
B He was rewarded for writing a letter. 
C He was selected for a consultancy role. 

1p 36 Uit welke zin in alinea 2, 3 of 4 blijkt dat Stanley nu nog niet in 
aanmerking komt voor de baan van Lego model designer? 
Citeer (= schrijf over uit de tekst) de eerste twee woorden van deze zin 

Let op: de laatste vragen van dit examen staan op de volgende pagina. 


